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EiE-iE-RE CGCHEBRRUMAHEHEREBEREEZSY)
& & TEEM iz I #YFE FEREREI # Y | 3 # % E 5l
JEE kg kg kg |E£EBR B# 1 il Ey & il R{E
1101 K48 ) 40 400 0 400
1M3EEEAS ey = 231 2,310 0 2,310 10. 00 0 0 0 2,052 0 1,080
GH 257 2,570 0 2,510
1141 iR ey =1 9 45 0 45 5.00 0 0 0 4, 644 0 1,728
GD 9 45 0 45
1201 B % /37 100 1, 200 0 1, 200 12.00 0 0 1,998 0
£/3177 213 3,195 0 3,185 15. 00 0 3, 456 0 3,132
Gh 368 5,220 0 5,220
1203 F v Ry ZH 20 200 0 200 10. 00 0 3,564 3,348
EH 122 1, 830 0 1,830 15. 00 0 4,212 3,996
BE 83 830 0 830 10. 00 0 3,024 1,836
9] 225 2, 860 0 2, 860
1204 GAR—JL EE 5 50 0 50 10. 00 0 0 0 0 2,268 0
(&H 5 50 0 50
1205 [F5hhAE [ EE 708 283 283 0 0.40 205 81 0 0 0
12 240 48 0 48 0.20 0 0 119 0 108
(&) 948 331 283 48
1201 5% EH 2 10 0 10
1200 9% B 10 30 0 30 3.00 0 0 0 1, 836 0 1,620
GH 25 75 0 75
1301 #F oy =1 28 56 0 56 2.00 0 0 0 1,080 1,026
=450 1, 800 540 0 540 0.30 0 0 0 130 124
=4 14 70 0 70 5.00 0 0 0 2,484 2,160
=R 125 50 0 50 0.40 0 0 0 0 167 0
) 1,9 732 0 732
1311 k< BEE 4 24 24 0 6.00 3,348 0 2,916 0 0
HEK 30 120 0 120 4.00 0 0 0 0 1,620
(&) 34 144 24 120
1321 M BiE 150 750 0 750 5.00 1,944 1,620
= 50 250 0 250 5.00 1,836 1,620
GEH 200 1, 000 0 1, 000
1331 MMIFH » Za-—-U—3 K 30 300 0 300 10. 00 0 0 0 2,484 0 2,322
(&) 30 300 0 300
131 E—< > =% 180 27 0 27 0.15 0 0 0 0 92 0
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EfE-thiE-2E CHERRUHAEERALNEZSD)
R FEEH N HY5E fAxER3I & Y H 3 # x E 3l
EEd kg kg kg |EEBE KR &1l il {i& Sl i RiE
EH 1,380 189 0 189
1401 4 45 BRS 5 10 0 10 2.00 0 0 0 2,376 0
& 5 10 0 10
1403 FEmE mE 75 75 0 15 1.00 0 0 1,944 0 1,728
EH 83 91 0 91
1407 EmT FabdIn 40 80 0 80 2.00 2,268 0 756
I 5 40 0 40 8.00 0 9,072 0
EH 45 120 0 120
1501 HE Rig i 5 0 5 5.00 0 1, 944 0
HE 28 140 0 140 5.00 1,512 0 1, 080
EH 29 145 0 145
1513 A—=U42 |HEXR 90 900 0 900 10.00 0 0 3, 456 0 3,024
(&) 90 900 0 960
1521 B EH 22 40 0 40
1541 £# £EE 587 5,870 0 5,870 10. 00 0 0 1,458 0 810
(&) 587 5,870 0 5,870
1603 )L 1) — (&1) 1 10 0 10
1605 7 R/35 £H 100 10 0 10 0.10 0 0 221 0 216
EH 100 10 0 10
1609 JRwyay |[#ES 10 60 0 60 6.00 0 0 4,320 0
= 25 150 0 150 6.00 0 5, 940 0 4,320
EH 39 234 0 234
1611 L2 R £E%H 20 100 0 100 5.00 1,620 1,296
R 20 200 0 200 10.00 2,592 2,160
EH 40 300 0 300
16129 =L 3R | K 15 75 0 15 5.00 0 0 1, 620 0 1, 404
EH 18 89 0 89
1627==r< b+ [&N 120 24 0 24 0.20 0 151 0
HER 48 144 0 144 3.00 1,836 0 1,620
(&) 292 200 0 200
1705 1 4% F=%31] 450 36 0 36 0.08 0 54
=} 3 12 0 12 4.00 0 3, 456
(&) 603 60 0 60
1803 &£ #E (&H 700 76 0 16
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BlE-hE-RE CHEBRRUMBHEHRBLEZESD)
& A FEEM o % B BYE AEXEEI & Y H 5| A x E 5l
EE kg kg kg |HE%BE B =iE HhiE R{E =i i {E R{E
1807 485 £5 100 10 0 10 0.10 0 0 0 0 45
& 990 198 0 198 0.20 0 0 0 81 0 69
&b 1,090 208 0 208
1809 Lo L £ 330 33 0 33 0.10 0 0 0 83 0 45
=T 1,500 300 0 300 0.20 0 0 0 0 80
G 1,830 333 0 333
* 8 * 19,782 43, 302 614 42,687
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BE-RE-ZE CEEBRRUhAHERELIEZED)
& A& FEEH H O BB #ysE xR B # Y H Bl H x @ 3l

B kg kg ka |HEBE BE® =1 il g S il Rl

210 >3+d)L | BH 2 20 0 20 10.00 0 0 0 0 4,320 0
GED 2 20 0 20

2811 & 3| 260 78 0 78 0.30 0 0 454 0

Ri& 410 1 0 1M 0.27 0 508 0 486
EH 670 189 0 189
* SMBEET * 1,344 417 0 417




